Name:
Polynomial Behavior #5-10 all and 23, 25, 29, 33, 35

5-10 = Match the polynomial function with one of the graphs !
[-V1. Give reasons for your choice.

5. P(x) = x(x* — 4) .m— 6. O(x) = —x*(x* - 4ﬁ_—
7. R(x) = —x° + 5x* — 40 8. S(x) = L1 — 257X
9. T(x) = x* + 2x’m_ 10, U(x) = —x’ + 2x* W
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23-36 = Factor the polynomial and use the factored form to T

find the zeros. Then sketch the graph. I
23, P(x) = x° — x? — 6x r1 41
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29. P(x) =x3+ x* —xC 1
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33, P(x) =a* —2x* - 8x + 16 W
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35, P(x) = x* — 3x2 — 4

(x42)12)(%?+1)

=Y

=Y

&
a———————————
=Y

¥ 14 O
=V



